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3. U= C Z2a¥s A3Fs W =9 A= A4dskA 2. [5pts]

##tinclude <stdio.h>

int main() {
int a =5, b =
int ¢ = ++a << 2 * (b++ / 2);
int d = (a %= 4, b += a++ << 1);
printf("%d %d %d %d", a, b, c, d);
return 0;
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4. U C 225 A= o =5 d3E #dstr 2. [5pts]

#include <stdio.h>
#define F(x, y) x + 2 * y

int main() {
int n1 = F(1, 2);
int n2 = F(2, 3) * F(3, 1);
printf("%d", nl + n2);

return 0;
}
nl=1+2*2=5n2=2+2*x3*x3+2=%*1
At . 27

5. U C 2RI A= o =5 d3E 28t 2. [5pts]

#include <stdio.h>
#include <string.h>

int main() {
char stril[20] = "BLIS";
char str2[20] = "KOREA";
char str3[20] = "University";
strncpy(str3, stri, 3);
strcat(strl, str2);

if(strcmp(strl, str2) > 0)
printf("%s", strl);
else
printf("%s", str3);
return 0;

At : BLlversity

6. th= C Z20¥< A= o =9 d3E sk 2. [10pts]

#tinclude<stdio.h>

int f(int x, int y)

{
if (x == 0)
return y;
return f(x / 3, y * 2) + f(x / 4, y * 3);
}

int main(){
printf("%d",f(11, 3));
return 0;
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##tinclude <stdio.h>

void f(int arr[])

{ int tmp = arr[0];
arr[@] = arr[2] + 3;
arr[1] = --tmp;
}
int main()
{ int a[5] = {1, 3, 5,};
for (int i = 0; i < 3; i++)
{
f(a + 1i);
}
for (int i = 0; i < 5; i++)
{ printf("%d ", a[i]);
}
return 0;
}

4E :833-20

8. Th& C X2I9g AWNS u 59 A1E Y5 2. [10pts]

##include <stdio.h>

int main() {
int n = 3, tmp;
while(--n){
tmp = 1;
for(int i = 1; i <= n; i++){
int tmp = i + n;
if(tmp % 2 || tmp-- < 3)
tmp *=3;
printf("%d ", tmp);

}
tmp++;
printf("%d\n", tmp);
}
return 0;
}
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9. U C 22135 A= o =9 A5 A3k 2. [15pts]

##tinclude <stdio.h>
#tdefine SIZE 3

void f(int arr[SIZE][SIZE])

{
for (int i = @; i < SIZE; i++)
{
for (int j = @; j < SIZE; j++)
{
if (i == j)
arr[i][j] += 1 + 3;
else if (i + j == SIZE - 1)
arr[1][j] -= 1 + J;
}
}
}
int main()
{
int arr[SIZE][SIZE];
for (int i = @; i < SIZE; i++)
{
for (int j = @; j < SIZE; j++)
{
arr[i][j] = 1 * i + j;
}
}
f(arr);
for (int i = @; 1 < 3; i++)
{
for (int j = 1i; j < 3; j++)
{
printf("%d ", arr[j][SIZE - i - 1]);
}
}
return 0;
}
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10. = C T2 F 79 &xES dgwdo}, Jgynte 5 #A<E e do] zol& wHgel+ lendiff
str7F FEEo ok 22 gHo] ExfEA &Y ¢ U EF lendiff &5 A SHA
(ex1. s1 = “Korea”, s2 = “Yonsei” => 1)

(ex2. sl = “Yonsei”, s2 = “Korea” => 1)
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##tinclude <stdio.h>

char s1[20], s2[20];
int lendiff(char *sl1l, char *s2)

{
}
int main()
{
scanf("%s %s", sl, s2);
printf("length difference is %d", lendiff(sl, s2));
return 0;
}
A AAD
int lendiff (char *s1, char *s2)
{
int len = 0O;

for (G *s1 || *s2; s1++,s2++)

{
if (! (xsl && *s2))
len++;
}
return len;
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11, o8 C Z2a3e 1014 10013k 5 10742 dewol 13 ol e £AEHNH < wase
mode ¥%7F THHo] Atk Lzae] utEs) FAY F AES mode FFE AYIIAL. (F, 3
ol het At st /g dteh) [15pts]

(ex. {1,2,3,5,4,4,7,3,2,3t =>3)

#include <stdio.h>
#tdefine LEN 10
int mode(int *arr)

{
}
int main()
{
int arr[LEN];
for (int i = @; i < LEN; i++)
scanf("%d", &arr[i]);
printf("mode is %d", mode(arr));
return 9;
}
A AAD
int mode (int *arr)
{

int tmp[11] = {0, };
int max = 0, maxIndex;
for(int i = 0; i <LEN; i++) {
tmp [arr [i]] ++;
}
for(inti = 1;1<=10; i++){
if (tmp [i] > max) {
max = tmp [i];

maxIndex =1,

}

return maxIndex;



